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1. SEEdwR Rl TeE e fede ?
@ frashfe (i) TR (i) TG
Tait I
(1) )% (2) (i) 3 (i)
(3) (i) 3N (iii) TR @) f@
Which of the following plays were written by Harshavardhan ?
(i) Priyadarsika () Ratanavali (iii) Nagananda
Answer aptions :
(1) (i) only (2) (i) and (ii) only
(3) (i) and (ii) only (4) Al the three

2. W wEgyiie  gean wev fawim' o <omar FEid Hiv e AR ?
(1) uwsah gm (2) T IR W (3) URER (4) o<y

Who has rejected the 'Safety Valve Theory’ about the foundation of the Congress calling it
the ‘myth’ ?

(1) A.O. Hume (2) A.R Desai {3) Tarachand (4) Bipan Chandra

3. e fem-So-aed | @ e v sTen . T qeEeEn TR UM YR S0 . &M
Jedan ?

(1) o fafes @F () ufile FH @A
(3) WA GM () T @ @A

He was given the title of Nizam-ul-Mulk. He was made the Governor of the Deccan. He
founded the Asaf Jahi dynasty. His successors are called the Nizams of Hyderabad. Identify

him :
(1) Chin Quilich Khan (2) Murshid Quli Khan
(3) Saadat Khan (4) Husain Ali Khan

HoAT HIE W /SPACE FOR ROUGH WORK
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4. VUGS AHNAT Hood: Hiel UM Bied SATes WE S Fo. qEIota! wivdl &die U Togd ?
(1} TRIST= TS 930 =419 St HayE! o Soas 9 1 9k TISaRA ¥ 319,
(2) IR TR ARSI e mEie T ) i e
(3) T OO HUYS FAFTYRY A e afee HNd: T § S
(4) TSR THS TR

The Maratha power suffered from certain basic weaknesses which led to its downfall. Which
of the following was not one among them ?

{1} The nature of their political system the Marathas alienated the sympathies of other
people,

{2) Their raids into the territories of other rulers made new enemies.

(3) The levies charged by them added to the oppression of the common people, particularly
peasants and traders.

{4) None of the above

5. STV e [Rretwl wivk) faum alET anea 2
(a) T T Fivn gug E.
(b) & g ST YA IS B
(c) TS AHAHTAW TR A9 Jum weg ufteg i el e,
(d) A Toeod Toare 7Y Tl fadia o,

'ﬂ'ﬂi’ﬂ'E?ﬂ':
(1) (a), (b) M (d) (2) (), {c) o (d)
(3)  (a), (b) 3V (c) 4)  (b), (c) anfor (d)

Which of the following statements are true about Ajatashatru ?

(a} His name was also Kunika.

(b) He was the last ruler of the Haryanka dynasty.

(¢) The first Budhist council was held at Rajgruh during his regime.

(d) He integrated Lichhavi kingdom into Magadh.

Answer options :

(1) (@) ()and (d) () (@) (and(d) (3) (a) (byand(© @) (b}, () and ()
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6. T3 fEown fadty = S wien FemEEER qievt #u. watd ST d gt fae.

(iy ~HoHd (i) ¥ (i) @=E (iv)
LR

(M) (@), (). i), (iv) (2) (), (1), (i), (i)

(3) (i), (itd), (iv), (i) () i), (i), (1), (iv)

Arrange the following British trading centres in their chronological order. Choose the
correct answer option.

(i) Calcutta {ii) Surat (ii) Madras {iv) Bombay
Answer oplions :
(1) (), (1), (i), (iv) (2) (), (0), (i), (i)

(3) G, (i), (i), @) (4) G, G, @) (v)

7.  WSSYE FHm Hifdwres faarn Tias 9 aesEe g ?
(1) THRET IFFET (2) ToIreR TR AR
(3) fdc = (4) g T
Who, among the following revolutionaries, was an atheist and a socialist in approach ?
{1) Damodar Chaphekar (2) Vinayak Damodar Savarkar

{3}  Arabindo Ghosh {4) Bhagat Singh
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8. Tyl Aeiie FHY AfAvHEEG TEwiH! FOR faur o @ ?
(1) A" aE e Oies sfree d.
(2) I FATT GHR 40,000 ¥oHG Sufeerd @i,
(3) o ATGEAYET AN YA A S anfn A s i TRl Yfteh IR e
(4) ¥HWE G T T AR FeAy e

Which one of the following statements about the Faizpur Session of Congress is not true ?
(1) It was the first Session of Congress held in the rural area.

(2) It was attended by about 40,000 peasants.

{3) Dhanajinana Choudhari and Sane Guruji played an important role in organizing
this session.

(4) Shankarrao Deo presided over this session.

9, EVFHOH TEERIHT 20 =0 TaHdie WaA9cde el YehY U] Sae ¢

(1) ISifa-cr= TTHFRUMER (2) VAT GIEHigR

(3) IEHTeHS NG (4) TEEGETET e THIEER

The early nationalists provided the firm foundation to the 20" century freedom movement
through -

(1) Politics of petitions (2) Constitutional means

(3) Agitational way {(4) Economic critique of colonialism

THEAT HINMERET SR /SPACE FOR ROUGH WORK
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10. WO (A) 3f0 (B) faum argq varE I arg T4 e

(A) YRGS GHESIER O ST fasmiearn Seod AeitE S,

(B) WiedfrHen I o SHawE A YD IS fewl.

it 6T

(1) (A) = (B) Tt 99 W 3 (B) € (A) =1 90 HROTHEA .

2} (A) e (B) A=) Faar W ARG, 9 (B) ¥ (A) <t A wrofimiar 24 AL

(3)  (A) T3 R, 9 (B) Th .

(4) (A)TH I, WY (B) T MR,

Read statements {A) and (B) and choose appropriate option from the answer options :

(A) Megasthenes mentions seven castes into which the Indian society was divided.

(B) Megasthenes confused castes with professions.

Answer options :

(1) Both (A) and (B} are true, and (B} is the correct explanation of (A).

(2} Both (A) and (B) are true, but (B) is not the correct explanation of (A).
(3) (A) is true, but (B} is false.

(4} (A) is false, but (B) is true.

HEAT HHG T /SPACE FOR ROUGH WORK
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Sre o (T 9FE A fraer)

Tt . 1 g w. 1
(a) onfcomTE! @
(b)  frowmeE (i) TIHTST
() wAEEl (iti) oo
(d) e (iv) HEHETR
(e) wLicumal (v) R

(@) (b) () (d) (e}
ay @) 6@ @) @
2y (v v @ G (i)
By @) ) (v) @ @
(4) ) Gv) () () ({)
Match the pairs. (Choose the correct answer option).

List-1 List-11
(a) Adil shahi (i) Bidar
(b) Nizam shahi (iif Golconda
{c} Imad shahi (iif) Vijapur
(d) Qutub Shahi (iv) Ahemadnagar
{e) Barid Shahi (v} Berar
Answer options .

@ O © @ (@
U G (W) @ v
@ & v O 6 ()
@ @) W © @ 0
@ © G @ @)

ol HATAIET ST /SPACE FOR ROUGH WORK
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12. 3OS Taven FIEe WA TSH TS JIa1 Heidl Fas T <17 61! &H 993 § § 7
i %, @ ure (sl Sa Bt 9w, (€ (el Tl &, sier da |iges A 7
@ T @) T R () T () R
At 3o :

(1) o 2y (3) (4) =W

The most outstanding Rajput ruler in the post Aurangzeb period was Sawai Raja Jai Singh
of Amber. He built the beautiful city of Jaipur. He also erected astronomical observatories
at five places. At how many of the following places he did not erect these ?

(a) Banaras (b) Uijjain (¢y Mathura (d) Udaipur (e) Allahabad
Answer options :

(1) One (2} Two (3) Three (4) Four

13. IO USRRUNIS gEo4dre dig faliy ereiets! Sl &1 ?

(1) =o§A (ii) WB?@‘T:I oSt

(i) wEPR foA-guew (iv) foemg gees

i I

() () = (i) (2) (i) et (i)

@) (i) 3 (iv) (4)  (iv) 30t (i)

Who among the following strongly opposed the interference of the Ulemas in the affairs of
the state ?

(i) Balban (ii) Alauddin Khilji

(iii) Muhammad-bin-Tughlaq (iv) Firoze Shah Tughlag

Answer options :
(1) (i) and (ii) (2) (i) and (iii)
(3) (iii) and {iv) (4) (iv) and (i)

Toedl HTETS! I /SPACE FOR ROUGH WORK
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I 1947 T4 Frt Hemw yRaH deean fad dvam iy B om 1o den 86
(a) w2 (b) FEUTHR () TaFTR (dy e
(1) ew @ @ © @) ®) (4) (). (@)

The princely states that were unwilling to join the Indian Union until July 1947 included :
(a) Baroda (b) Travancore {c) Bikaner {d) Bhopal
(1} All theabove (2) (a), (c) (3} () (¢} (4) (b), (d)

15. mmmwwﬁw TAA, SR, SRR, wWeseH o ﬁ?@ﬁ%ﬁzmwwm
TR YR Sl TS aei AR ey e e mu S W, Eie
T T1o HIOEHITAN %Y ol ;

{a} STEAG TH (by HRIT WET

(¢) TR ¥1§ (d) WEHR ¥R

gt a9y

(1) AEHE VIE, SEIgY VIR, TRia ¥I8l, HeXE et

(2) TEG VI, SERd Y18, HEHE Vg, 3ENT vEl

(3) EIGL WE, N YIgl, STeleY I1e), 3ieHE Val

(4) TR VT, HEHE VI, JEGT e, STEHS

The Great Mughals included Babar, Humayun, Akbar, Jahangir, Shahjahan and Aurangzeb
in that chronological order. The Mughal emperors who came to the throne after the death of
Aurangzeb are called the Later Mughals. Arrange the following four Later Mughals in their
chronoiogical order.

(a) Ahmad Shah (p) Bahadur Shah

(c) Jahandar Shah (d) Mohammad Shah

Answer options :

(1) Ahmad Shah, Bahadur Shah, Jahandar Shah, Mohammad Shah

(2) Bahadur Shah, Jahandar Shah, Mohammad Shah, Ahmad Shah

(3) Bahadur Shah, Mohammad Shah, [ahandar Shah, Ahmad Shah

(4) Jahandar Shah, Mohammad Shah, Bahadur Shah, Ahmad Shah

16. 7= A 929 WRAT S T O 9T eSS
(1) 13 (2) 23 3) 33 (4) 43
The Ganga P’lains accomedate _______ percent of population of India.

1 13 2) 23 3) 33 (4) 43

wHoeAll HIEMETE S /SPACE FOR ROUGH WORK
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17. YEi® aA faummn foar .
(A) T e 10° ¥ 20° AR Fede Rd
(B) 10° T 20° Sy TraraTday ST THT Sifi a7
T I
(1) <FE (A) A (B) W AT T (B) & (A) T RO AR
(2) A (A) A (B) W HRA W (B) € (A) = HRY TR
(3) T (A) W IR
(4) % (B) @ 3T
Consider the following two statements :
(A) There are deserts between 10° and 20° latitudes in both the hemispheres
(B} Between 10° and 20° latitudes evaporation exceeds precipitation
Answer options :
(1} Both (A) and (B} are true and (B) is the reason for (A)
(2) Both (A) and (B) are true but (B) is not the reason for (A)
(3} Only (A) is true
(4) Only (B)is true

18. TEI® FIR faum g o) ?
(a) <Y TS A T IS AT Hsaee F-T7e ARl fae S fesqere
LEIERCIN
(b) SSYEE! : HUSHH] T AR U qUY S H,
(c) THEs : USqdidie TSHia 9 Yol haa ATed] @il JIvT,
it S
(1} W (a) 2} dF (3} TR (0 (4) TR

Which of the following statements is incorrect ?

{a) Chauth: Tax realised by Marathas from the areas outside their domain-equal to one
fourth of the revenue paid to the Mughal Empire.

(b} Sardeshmukhi : Tax realised by the Marathas equal to one tenth of the land revenue.
() Misl : Political unit among the Rajputs, each loyal to its own particular leader.

Answer options :
(1) Only {(a) {2) (b)and (c) (3) Only () (4} None

AT FATTS 91T /SPACE FOR ROUGH WORK

P.T.O.
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19. SIS o
WY A WY B
(a) TERA FFR (i) TS TR I
() Eeifer R (i) 39 welww
(c) THERMATT FHR (ili) FIaT0Y SN
(d) TSI FER (iv) Haq Swresal

3 ® @& @) (i)
@ G @ a1 (@)
Match the following :

Column A Column B
{a) Hawaiian Type (i)  Erupt with great force
(b} Strombolian (ii) Most violent
(¢) Vulcanian (iii} Erupt quietly
(d) Peleean Type (iv) Erupt continuously

@ (® ()
1} (v @) @) @
(2) (i) (iv) (B (i)
(3 @ @) Gv) ()
4 @) @ @) (iv)

FHoAT HIHE AR /SPACE FOR ROUGH WORK
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20. SES O

(d)

0
(2)
G3)
4)

Match the following :

(a)
(®)
(<)
(d)

{1
(2)
(3)
(4)

ww A
CEiC CRIEE o
wfifara s
T ST
e ArE
{a} () (<)
{i) @) ()
Gii) @) ()
@ O @)
(iv) (i) (i)

Column A
Gulf of Tonkin
Parsian Gulf

Gulf of Aquaba
Gulf of Ob

(@ (b (o
@ i) (iv)
(i) (@) (i)
@ @ ()
(v) (@) (i)

()

(iv)
{iif)

)

(i
(i)
(iv)

(M)

(ii)
(iif)
(iv)

13

wWYB
HAFIEH TEEPR
ot IR
[EEUCKEION

qae] TR

Column B
Arctic Ocean
China Sea
Indian Ocean

Red sea

GO3

WAl HFITERS W /SPACE FOR ROUGH WORK
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21, A e &7 Eaie TSt 3 ua i

AT

(a) St

(b) =
qel
gl

(@ @® (o
1) {v) @) @)
(2) i) @) (iv)
(G} Gv) @ ()
4 @O @) (i)

)
(il
(i

(il
(i)

L)
() FREE
(i) 7Ty
(i) Trefrd welT (@fverg)
(iv) ATES

Match the following pairs and choose the correct option from those given below :

Tribes

@) Angami

) Kota

(c) Munda

(d) Chutiya

Answer options :
(@ (® id

1) (v) @) 0

(2 (i) @) Gv)

(3 (v) @ (i)

4 O @@ v

(d)
(i)
(i)

(i)
(i)

States
(i) Zarkhand
{ii) Assam
(iii) Nilgiri mountain (Tamil Nadu)

(iv) Nagaland

weedl HIHTETE! W /SPACE FOR ROUGH WORK
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22. W 7 feg wv Qeiets! S taa aniid e I ?

(1) o (2) G (3) @ T
Teej a Hindu festival is dedicated to which Goddess ?

(1) Lakshmi (2) Saraswati (3) Parvati (4) Durga

23. TE B O WS FIw T Tt S, S S vem T AR v siead
Trar. AN 1829 MR SR WRAIG 9 9 999 WY, SIS SinTd T TR R

() TIST Y TEAS L.

(b) e RIS HEl.

it 39T
(1) F (a) R _(2) T (b) ST
3) (@7 (b) T T IR, (4) (a) @ (b) 2= IV T

Tea is made from young leaves of the tea plant. Chinese were the earliest tea drinkers in the
world. The British first discovered the Assam tea in 1829 in the forests of North-East India.
The popular brands in the world are :

{a) Large leaved China tea

(b) OSmall leaved Assam tea

Answer options :

(1) Only (a) is correct 2)  Only (b} is correct

(3} Both (a) and (b) are correct (4) Neither {(a) nor (b) is correct

FHoAl HATES W /SPACE FOR ROUGH WORK

P.T.O.
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24, T2 8F faumiEn fa=m $a.
(2) W FieAefiy gaEia 9 ;. TH fafom s frged! we o= frwa,

(b) SSTER{CAHTY HEIIUT S ; AT TIGI HHI G TFABIAT Sqe5 I, G

A RMHT
(1) e (a) AT IR (2) SO (b) I 3R
(3)  (2) 3 (b) TF T & (4)  (a) @ (b) =T TR AT

Considcer the following two statements :

(a) Tropical Evergreen forests : Scattered distribution of one particular species of tree
eg. Rosewood.

(b) Tropical Deciducus Forests : They have fewer species bul they are found in close
proximity eg. Teak.

Now state whether :

(1)  Only (a) is true (2}  Only (b) is true
(3) Both (2) and (b) are true (4) Neither (2) nor (b) is true
25, ARVEH TR ¥ WX FoAH fawfod @ oW, @ A TS gL A g
feraefie 9 B 9 e
1) 6912 2) 89 20 (3) 123 6 (4) 499
Newly developed ‘Ennore’ port near Chennai is the th largest port in the country
and . th largest port on the eastern coast.
(1) 6and 12 (2) 8 and 20 (3) 12and6 {4y 4and?9

FHoeTT SHIMETE FHT /SPACE FOR ROUGH WORK
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T 2009 TS FAFI LR SR A FH AT FIN TAE WSO B

(a) STEOTES WA (b) e

(c) TeI WeW (d) wHETS
i oY

(1) (e} (d)s (@), (b) (2) @, @), (d), ®)
3 ) (© G) @ 4 (9 @), d) b

GO3

Arrange the following States in descending order of their forest area, according to forest

survey report 2009 :

(@) Arunachal Pradesh (b) Maharashtra

(c) Madhya Pradesh (d) Chattisgarh
Answer options :

1) (), (d) (@) () @) @) (@) @) b

(3) (@), (o) (0) (a) 4 (o) @ @), b

ToBiE! HvEl chel gd i uiyeH urm Wisd ?

(1) fadid 2) frefnd (3) Fwfird (4) AeoHRA

Which of the following hills connect Eastern and Western Ghats ?

(1) Biligiri (2) Nilgiri (3) Nimgiri (4) Nallamala

HoAT RIS AFT /SPACE FOR ROUGH WORK
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e Yt aw
(a) ¥ 0 =TS
(b) dig i) ¥@
(c) T (i) TEE
(d) <fe (iv) 31y vew
waidt Sy :

@@ (b () (d)
1 G @ () ()
2) @) @) (@) (1)
@) ) @) G @
@ (v @ @ (6

Match the following and choose the correct option from those given below :

Shifting Cultivation State
{a) TJhum (i) Chattisgarh
(b} Podu (i) Keral
{c) Ponam (iii) Assam
(d) Dahiya (iv) Andhra Pradesh

Answer options :

(@ (@ (o) (d)
1) @) @ Gv) (@)
) @) ) (v) ()
Gy H) @) @) @
@) vy (i) (1)

—
—
——

FeAT STETE AT /SPACE FOR ROUGH WORK
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29, wiew Jeal At @idte Taiaids @ 7ata e,

L -4 S ErEr
(a) TRl () TS
b)) FEd (i) e
() W (i) TEEEH
(dy w9z (iv) fTieeom

(@ (b) () (D
O v Gy @ @
@ @ @ ) ({v)
(®) ) @) (D) (@)
4 @) @) @ @

Match the following and choose the correct option from those given below :

River Water fall
(a) Sharavati (iy Gokak
(b) Kaveri (i) Chulia
(c) Ghatprabha (i) Shivsamudram
{(d) Chambal (iv) Girsappa

@ (b) {0 (4
(1) @) @) O @
2y @@ @ @) (i)
(3) (v} G) (D) ()
(4 () (@v) (@) ()

oAl HINTEIET AR /SPACE FOR ROUGH WORK

P.T.O.
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30, WASIE! B HeE AFF T WU Qs o 9 yEw tfEaE.

(a) TeE=A STHEEN FHEG a (by fzaw = = yo

(c) = g (d) wd Tt geei=n gpurTel wOw EH

=i 39T ;

(1) ()3 (b) 2) (B () 3} (@9 (d) (4) wIo

Which of the tollowing factors determine diurnal and seascnal vartation in intensity and
amount of solar radiation ?

(a) Inclination of the axis of the earth.
(b} Length of the day.

(c) Extent of clouds

(d) Angle of inclination of the Sun’s rays

Answer options :

(1) (a) and (b) (2} (b)and (©) (3) (¢) and (d) {4}  All the above
31. Ol WRWE e HeAE 1 AT BTl

(1 te-3ER (2)  forgartafaiyn

(3) e @) fes

Accumulation of mercury into human body leads to . disease.

(1) Ttai-itai (2  Methaemaogiobinancmia

(3) Minamata (4) Polio
32. HAMGDNH Weits Seieayed oo ggafa quome go S e | g,

(1)  StafEE (2)  Srasmar

(3) SegEdH 4) SesTaRiE

The continuous increase in concentration of a toxicant at successive trophic levels in food

chain is :

(1} Biodegradation {2) Biomagnification

{3} Bioaccumulation (4) Bioremediation

HSAT ®ETHEIE A /SPACE FOR ROUGH WORK
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33,  HIRA TS eI HHA U= B gl ?

(1) FEA I RS (2) EERH oA SEEEE

@) o (4) TR B FEA

The main gas responsible for ozone depletion is :
(1) Carbon dioxide {2) Nitrogen dioxide

(3) Methane (4) Chloro flure carbon

34, TN SanTHie, TEAd: gaEaEd A I g9 Wigedte faee S dg o | ses S
FIAW A SA S IIGH ST AT GRS A _ RUdH.
(1) ToEu (2) foes (3) Y (4) wigEd
Heterotrophic organisms, chiefly bacteria and fungi that breakdown the complex compounds
of dead protoplasm and release simple usable substances for other organisms are :
(1) Autotrophs (2) Decomposers (3) Consumers (4} Omnivorous

35. WAMe gt ufes W TR __ ¥
(1) fawm =l (2) Horg M 3) ™ (4) =

The First National Park established in India was

(1) Jim Corbett (2) Sanjay Gandhi (3) Gir (4) Kanha

THoeHT HIUTETE ST /SPACE FOR ROUGH WORK
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36. WIORAH FIA AY ¥ WRARS gataorHad A FRagAE W T g% = 9e 969,

Seg1 TER =i = snfor o= aftr wenen et ?
(1) 1973 () 1971 (3) 1972 (4) 1974

Which of the following is considered as a land mark year in the history of legislative action in
India for environment concerns during which National Committee for Environment Planning
and Co-ordination (NCEPC) was set up ?

(1) 1973 @ 1971 (3) 1972 (4) 1974

37.

qa g Fatd symen weds & ?

(1) wew WEl H* jons FeseA

(2) WMYA H* ions Fg

(3) Ca* 300 Na* ions M= fatsesed

(4) C*ions TRIMYT ST

Kidneys are helping to maintain pH balance by which of the following ?
(1) Adding hydrogen ions to filtrate

(2) Removal of hydrogen ions from blood

(3) Dissolving calcium and sodium ions in blood

(4} Removing carbonate ions from blood

38.

SeRTTHe whRiaRe s wate syw dafifs gheritwt ww oR. TR 3,00,000 S
HIYS W TGS, 376 RO, aRTSRAHES, TN =awe d aiRee & gHem v qedl ?

(1) 1970 (2) 1960 @) 1950 (4) 1940

One of the worst natural disasters of the World was the cyclone struck in Bangladesh. As
many as 3,00,000 people, lost their lives, it is said. When did the disaster struck Bangladesh,
then East Pakistan ?

(1) 1970 () 1960 (3) 1950 4) 1940

HEAT HHEME W /SPACE FOR ROUGH WORK
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39, fafowit Eo, FARHE, LTH T ¥ AT TS Faid Wow W IJGMYHT U6 A L0 09
WFE! BT U dA9r SUNM THeS ARA. e Kol Feas (@i aF HuiiEst o
e amg ?
(A) wH wToh Tafomin oo ' it T feoee’ wed Wi,
(B) oW e SR FRv {8 YFel-F1- g9 Feren yemil FerEs )
(1) %92 (A) (2) %D (B)
(3) (A) ¥ (B) T4 (4) (AT (B) Sl &Y.

Silicon Valley, California, United States is one of the greatest science parks in the world
today as it contains hundreds of hightech information technology industries. Which of the
following two statements about the Sillicon Valley is correct ?

(A) Silicon Valley was once called the “Valley of Heart’s Delight”.

(B) It was so called because hundreds and thousands of varieties of flowers bloomed

therein.
(1) Only (A) (2)  Only (B}
(3) Both (A) and (B) {4) Neither (A) nor (B)

40, 201741 UIa] foare HFEe 109 ST SgHAERH Res Froniehr=n e /et %ol & Jeaagan
A1 LS fdt yHTOTT ST SgeAM! Tty e e ?

1 1/2 2y 1/3 (3) 1/4 4 1/5

Human development report of 2011, presented Multidimensional Poverty Index (MPI)

estimates of 109 countries. What proportion of population according to this report, in these
countries experience multidimensional poverty?

(0 1/2 2y 1/3 @) 1/4 4 1/5

Hol HES W /SPACE FOR ROUGH WORK

P.T.O.



https://dompsc.com

GO3 24 A

41. I 99 anfor mISe . T avi KIS fawmrE wRErE Yo FIoRT 2 Aot ang @i
fraret

(1) 3IUsfaw, @0EEs A%, @ioA, §70, JHETTTR
(2) ST, WOTgTe, Torefo, &Il st EsE

(3) o1, &, Fam, fyvars g, sl

(4) P S TS, <X B SeaH, WONH TG, Wi, e

What are the core values of development as described by Amartya Sen and Goulet D ?
Choose the correct option given below :

(1)  Sustenance, self esteem, freedom, capabilites, entitlement.
{2)  Health, nutrition, =ducation, capabilities, entitlernent

(3) Food, clothing, shelter, drinking water, sanitation

{4} Increase in national income, per capita income, basic needs, freedom, education

42. <[ 2012 i vIvaq fa@mamEeE [ + 20 vieg fatat sidfcqasar’ e gad® gl Eoiedd!
PV S Trshld | faem arefeewd)’ <t 6 e A9t 2

(1) med 89, €. wisHA, §ue
(2} €. derd, ©, AehveE, 3. aReter

(3) 3n4. FIY, T3, 94, TA. BEH
(4) Sl WA, . eR, gy

The June 2012, Rio+20 conference on sustainable development advocated the “green
economy” model. In whose book the term ‘green economy’ was coined ?

{1)  Amartya Sen, D. Friedman, Samueisan
(2) D. Pearce, A. Markandya, E.Barbier
(3) L Quadeer, W. Berry, N. Hatekar

(4) D. Greenberg, | Taylor, Schmidth

THeeAl HEWTS AT /SPACE FOR ROUGH WORK
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43, ¥ wwmdna o

(1) T AAes A (2) WehTeSHl AT GACTH

(3) TS ATOEN FAT (4)  TERTSTEE] SFTEAT G 92

The velocity of radio waves is
(1) Greater than velocity of light (2) As that of velocity of light
(3) Less than velocity of light (4) Exactly double the velocity of light

——— _— —

44, 2011 =N TPOATAD Rare fodt v dleden 10 S S AR ?
(1) 52 ) 53 (3) 54 (4) 55
According te 2011 census how many cities in India have more than 1 million population ?

1) 52 @) 53 (3) 54 4) 55

45. EARWS fRd (frrvedl) Fid 95T o wdtelst v vy e
(1) Witpfaes, THHIA, qiaH (2) TS, amfas, SR
(3) nfedeE, Qola, wivEfow (4) T TE
Land reforms promote triple revolution. Choose the correct option from the following :

(1)  Cultural, Political, Technological (2} Political, Social, Commercial

(3) Econcmic, Political, Culraral (4) None of these

46, 2011 = SFPVATER 2001 @ 2011 TAFE T, WAl I0die 96 Getedst e gk ?
(1) 53.7%4d 655% (2) 54.1% T 67.2 %

(3) 523%1 644 % 4) 553 %7632 %

As per the 2011 census what was the rate of improvement in female literacy during
2001 to 2011 ?

(1) 537 % to 655 % - (2) 54.1% to 67.2 %
(3) 523 % to 644 % {4) 553 % t0 632 %

FHoT AR T /SPACE FOR ROUGH WORK
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ITEGAITEA HIU fereh? ST WO n@e ?
(1) e TeREESS (2) oYY Frestaitw
(3) s (4) femEs

In plants, which enzyme is found in largest quantity ?

(1y B galactosidase {2) RuBF carboxylase
(3) Enterckinase (4) THeterokinase
Sifoavag =g dod! HE TG B ?

(1) ", +dan (CO,+CO) (2) w3, + T (CO,+NO)
(3) "I, + 3L, (CO+0y) (4)  ELaW,+ TELH. (CO,+ HO)
The end product of aerobic respiration is ;

(1) CO,+CO (2) CO,+NO

(3) CO,+0, 4) CO,+H,0

2000 TP TP Biwae Hiens dHe 3RER fer deuen W FO aR. Eees
Fror) a9 3 3feE T FUeEE IR ?

(1) 2015 2) 2025 (3) 2035 (4) 2045

The long term objective of population policy 2000 is to achieve stable population. During
which of the following years this objective is targetted to be achieved ?

(1) 2015 (2) 2025 (3) 2035 (4) 2045

THEET TSl W /SPACE FOR ROUGH WORK
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S50. WEIE YA ¢ ATl SNl e | SRl weidd g @ 93 et

(1)
(2)
(3)
(4)

SEE A i fawa

FenEE Ag T S

Choose from the following options what the “Malthusian Population Trap” is related to :

@)
2)
(3)
4)

Population growth and positive checks
Population growth and preventive checks
Population growth and development

Population growth and fertility

51. 3ifa oY WEeiei wE (2.45 GHz fraait) v /™ Aka ?

(2)
(c)
(1)
@)

ERY e TR by e dgiwdr HH yHond T8 9
seqaimed Wfew see wedr (d) el aa

(2), (b) ¥ (d) (2) (@), (b) WO (c)

(b), (c) ST () (4 (o) = (d)

What are the advantages of Microwave oven having microwave frequency of 2.45 GHz ?

(a)
(b)
(c)
(d}
(1)
3)

There are no flames

Destruction of nutrients is less

There is a physical change in foods

Sterilization effected

(a), (b) and (d) @ (2 (b)and (9
(b), (¢} and (d} (4) () and ()

ol HWFEIE AT /SPACE FOR ROUGH WORK
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T TR Y O ?

(1) A SO BT SEEY HHAE
(2) TRIEIATAT SOOI TR TR HHIA.
(3) RIS (O BIVIFAT STHCHEY W,

(4)  RIETT=ET LUTST BIOTT GeTe |,

Raman effect i1s due to:

(1) Inelastic collision of photon with e”

(2) Elastic collision of photon with e~

(3) Inelastic collision of photon with molecule
(4) Elastic collision of photon with molecule

R @R 9T 9% Hfae aeiaT fGER edha qEareEd sed, T @ FRgeR TR W 99
GIHOTH TH.

(a) fafas waiae fon woma o9 90

(b) SEdr st foiiA fRen woom g W9
(c) TeriaRr=a faweg foPH o o) oo oo
(dy weETE faen #E w=oom wfafem @

TS F0E R ' T 2
(1) {a) ST (b) (2 (@), (), () M (d)
(3)  (v), (c) N () (4 (@), (b) S (c)

If a heavy load is pulled along a smooth horizontal surface, then the force acting on the load
may be :

(a) The applied force in the horizontal direction.

(b} The force of gravity acting on the load vertically downwards.

(c) The force of friction acting in the horizontal direction opposite the motion.

(d} Reaction force due to the horizontal surface.

Which of the above statements are true ?

(1) (a) and (b) 2) (@), (b), (c} and (d)

(3) (b, (©) and (d) 4) (@), (b) and (o)

o WIWHIS JANM /SPACE FOR ROUGH WORK
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TR e A e 3 w2
(2) ®EAgorEE () T@HE () FOUW  (d) TEEE (o) HAlE
(1) wwmdE @ GhE W @) (@b e (4) (). ®. @
The allotropes of carbon are :

(@) Carbon halides (b) Diamond {c} Fullerenes {d} Graphite {e) Chaoite
(1) All above (2)  (b), {c) (d) (3) (@) (b). (9) (4)  (a), () (d)

afodie Fremta fodt sy el oTeesd! ?
1 2 @ 3 3y ¢ ) 1

Oxygen occurs in nature in __ isotopic forms.

1 2 2 3 3 4 4 1

TEetE! A s fae

(a) o ar TEatden T vaEigd ST .

L) e fela TediT gal Jog T s,

(©) wEFoR ITE TE IR

(d) aferl ga yeuilan 9y e &t Sur .

M) (a), (o) F (d) = @) () 3 (b) R
(3)  (c) S (d) TR (4)  (b) 3T (d) e
Choose correct statements from the following :

(a) Sound waves travel faster in sofids than in gases.

(b} Sound waves travel fastest through vacuum

¢} Sound waves are longitudinal waves

{d) Sound waves travel slower in gases than in liquids.

(1) (@), {¢) and (d) only (2} (a)and (b) only
(3} (c) and (d) only (4) (b) and {d) only

P.T.C.
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57. S di fgamvgdl Sioean e T ¥E $ot 2

(1) =¥ (2) Suw i g

(3) oy fomrm 4y fusliwres

Which Botanist introduced the ‘Binomial” nomenclature to the plants ?
(1} Bessey (2) Bentham and Hooker

(3) Carolus Linnaeus (4} Theophrastus

58. hIvidt YTuil UFi AR WIS, WURH M ATy Fd 7

(1) e =it 2) @<t
(3 A (4w
Which animal tissue synthesizes, stores and metabolizes fat ?
(1) Epithelial tissue (2)  Adipose tissue
(3) Connective tissue (4) Muscle tissue
59. faw (mmd) _ @A
(1) wwdEig = (2) il T
(3) N Sits (4) ST S
Viruses are :
(1) Unicellular Organisms (2)  Celidlar without cell wall
(3) Multicellular Organisms (4) Non-cellular Organisms

60. awielsl fodma vam wivm?
(1) wig (2) e (3) wEIYSIE (4) afawHEH

Spot the odd one out ?

(1} Humerus (2) Femur {3) Radius (4) Scapula

Feel I JT /SPACE FOR ROUGH WORK
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61. TomtHe AEETH AS= HIVM ?

(1) Freo afu ofes 2) fEe Ao ge

(3) gHT mfer ST (4) T 99 i gHm
Which of the following are essential whorls of the flowers ?

(1} Sepal and Tepal {2) Sepal and Petal

{3}  Androecium and Gynoecium {4) Calyx and Stamens

62. JHT A T &0 FHId ?
(1) Siteee + & (2) TR + SAFET
(3) Tl T U + FEA T AHMEE  (4) T W U + W@
Urea is transported by :

(1) Plasma + Blood (2) Blood + O,
(3) RBC'+ CO, (4) WBC + Saliva

63. WHT fayHidl Seadr TS,
a1 geer wfadl’ THEE 398 g TEEiS veaie sulEdde amu wet aeie arieyiE 7
(a) =T T fepfauarma! sfiatiaide =1 MR,
(by 3T femam SavaEmE! F=EMEHElse 9 518 o AN
(c) T3 =AU TRIATE AW FE AT GINHHTT FI0.
(d) ¥ Ulhad IHH = AL &I,
(1) wdfaur T omm @) (@) () ) T
(3) (a) 30 (d) U (4) wd faur stac e
Which of the following statements are true ? The guidelines for “the use of chemical additives
in food processing” by Food Protection Comimittee in publication 398 include :
(2) Use of antioxidants to maintain nutritional value.
(b) Use of anti microbial agents and inert gases for food stability.
{c) Use of colouring and flavouring agents to enhance the attractiveness.
(d) Use of buffers in food processing.
(1) All are true (2} (a), (b), (c) are true
(3} (a) and (d} are ture (4} Al are false

HoAT RIS ST /SPACE FOR ROUGH WORK
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64. WHOUH FIO [ AE 18 7
(a) sTemm-=ey w1 Fafiie {1 R,
(b) sifewdT & Fm 1 3R,
(1) TE EA (2) (a) ¥, (b) A
(3) (a) HEH, (b) T (4) T I
Which of the following statements is true ?

(a
(b
(1

Indigo - blue is a nataral dye.

)

) Alizarin is a synthetic dye.

}  Both true (2) (a) true, (b} false
)

{3) (a) false, (b) true {4) Both false

65. FHUW = TvgEE HaTT SIS JU:FH AT GHYANTT Fe0 TR dur e ?

(1) T anfor Jais (2) AR A fEr

(3) TEE I HER (4) SHRN T AR
Upon hydrolysis, sucrose yields equimolar mixture of :

(1) Glucose and ribose (2) Fructose and ribose
(3) Glucose and fructose {4} Lactose and maltose

66. Tadedl FAid & woets! Foc YT AT A8 2
(1) Ca0 - Si0o, - ALO, (2) Ca0O - Al,Oy -MgO
(3} SiO, - Al,O, - AIC], (4) Cao - 50O, - AICI,
The composition of cement is :
(1) CaO - Si0, - ALO, (2) CaO - AL, -MgO

(3) SiO, - AlO, - AlCk (4) CaO - SiO, - AICl,

HoAT HNTETS S /SPACE FOR ROUGH WORK
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67. Frumd fasor el ?

(1) it (2) @@ (3) it (4) @g

What is not a mixture ?

(1) Water (2) Air (3} Soil (4} Chalk
68, TR et 98 Y@ T WEE T 4.

(a) TASSAI (b) TSI

(c) (d) RS FSEA

(1) wwREIE (2) (@), b)© 3 @ b)) 4 @ @

The fundamental requirements for nitrogen fixation are :

{(a) Nitrogenase (b) Fertedoxin

{c) ATP (d) Aerobic conditions

(1) Al the above (2) (a), (b), ()

(3) (@ b), (d) @) (@) © d
69. TTAT AL YEHET g AgH weed I Tes v We) sfaa ?

(1) e (2) WEIHA (3) TEFM (@) gEE

In DNA, thymine always pairs with .

(1) Adenine (2} Cytosine (3) Guanine (4) Thymine
70. wiemren ffifd Focm RNA 2 weem w8 R ?

(1) mRNA (2) tRNA (3) iRNA (4) rRNA
In protein synthesis, which RNA plays an improtant role ?

(1) mRNA (2) tRNA (3) iRNA (4) rRNA

FoeHT HEIS AP /SPACE FOR ROUGH WORK
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71, SITEH SeW 22 JHard, ®wEr MYE AYdie ded] Yiaaud WHESd AT S S R wiw
TR H (S WS $9 A8 5 7

1) 27@ (2) 34 (@) 4 ufe (4) 6uE

Under Article 22 of the Constitution of India, with the exception of certain provisions stated
there in, what is the maximum period for detention of a person under preventive
detention ?

(1) 2 months (2) 3 months (3) 4 months (4) 6 months

72. T HAGW WIHAGIH] HIOd SR TG AT WH0 wraiferes, anfefen Gwanech =m g
TR gt w9 qed ?

(1) o G&h HE (2) Vasl §& Hig
(3) FU ®HIS THA GROT Hrag! (4) hoigEd) &

Which of the following statutory provisions will you view as the most effective instrument of
rural socio-economic distributive justice in the independent India ?

(1) Forest Rights Act (2) Agricultural Tenancy Act

(3) Agricultural Land Ceiling Act  (4) Debt Relief Act

73. GOOUH] SV HSATCEIEN GAHg UEialay e SAVATT Yol 3o ?
(1) 427 () 52 @) 62 4y 708

Which one of the following amendments to the Constitution of India sought to curb political
defections ?

(1) 4ond (2) 52 (3)  62nd (4) 70t

ol RIFEIET ST /SPACE FOR ROUGH WORK
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e g faamidat sivd 9ra &R ?

(@) S Gl FEAETHRUNY AT 9 PG W TR FOAS! AN Sl 9 S Al

(b) SN Tt NS FITHISI Toregeh TEVH AT S T3 BT, TR0 F OIS SARTGET AT
Fiter |ier § Hifean sUgA HisHe 379,

1) % (a) 2) W (b)

3) @IETRA @) (@3 O T ETE

Which of the following two statements is correct ?

(a) The soda commonly used in the kitchen for making tasty crispy pokodas is baking
soda. The baking soda is a sodium carbonate.

(b} Washing soda is usually used as a cleaning agent for domestic purposes and in glass,
soap, paper industries. The washing soda is sodium hydrogen carbonate.

(1) Only () (2)  Only (b)
{3) Both (a) and (b) (4) Neither (a) nor (b)

75,

U AR ST Seasl siv Gl TavE Wrledtl JE WS |l w1 ¢

(a) VHAN FAY (b) TEEH IursAy

) OFuide f e (&) TeaEdds R qama
() gawur () A

4y gy frae

1} (@) @), () =nfor (f) (2) (@) (c) =N (e)

(3) (@) @), () T (e) 4) (@), () (©), (@) () 3 (H

The Chairman and Members of the National Human Rights Commissicn are appointed on
the recommendations of a committee consisting of :

(a} Speaker of the Lok Sabha

(b) Deputy Chairman of the Rajya Sabha

{(c) Leader of the Opposition in the Lok Sabha

(d) Leader of the Opposition in the Rajya Sabha

(e} Prime Minister

(f)  Union Home Minister

Select the correct answer from the codes given below :

() (@ ) () and () ) (@) (¢ and (¢)

@) (@), © (@ and () (@) (@, (b), ©). (@) (&) and (D

oAl HETEI™ Wm /SPACE FOR ROUGH WORK
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s 3 faumia fran o

(2) 3TN MM TRGEOIG ATAS T BN § owIhRaN Weg FR.  SreeAW UeR oifus
ez famion 33 S d2 EIS o 9 A s 961,

(b) WY Teglase (faew wie Tl 91 aree 79 9 Fe Il 3 UF Ao I,

FUR T olgD) ST 3T ?
(1) 9 (a) 2) e (b)
@) @) IR 4) (a)3 (b) A W&

Consider the following two statements :

(a) Our stomach produces hydrochloric acid. It helps in digestion of food. During indigestion
the stomach produces too much acid causing pain and irritation.

(b) Magnesium hydroxide (milk of magnesia) is often used in the above condition which is
an analgesic ?

Which is a completely correct statement ?
(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither {a) nor (b)

77.

WRBYR! FIUCN Geedrdl GHH FUE F@ST 24 o W g HIEQT WA & ?
(1) "oETY G 2) fot fircw e
(3) #vEFT WA @eo (4) TR WA WA

Which one of the following cases prompted the Parliament to enact 24" Constitutional
Amendment Act ?

(1) Golaknath case (2) Minerva Mills case

(3) Kesavananda Bharati case (4) Shankari Prasad case

HEAT RMHTST AR /SPACE FOR ROUGH WORK
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78. Wﬁaﬁhﬁﬁaﬁmﬁacms (3T) ™= Hass [Koe s

‘q&ﬁﬁﬁs’?aﬁa@

(a) T .- sfafes ofie (b) R -l sifue

() fo9 -l sifus (d) WA - Nite® dfas

(e) o9z gy (3&) - Sfww difae (H 19 - amfesw ez
(p) Foreamar <a - tedfes sfae (hy “eod €9 - geHiE Jfag
(1) () 2y (@) 3) (8 (4) (h)

Some naturally occurring acids are given below with their sources.
Indentify the incorrect pair :

(a) Vinegar - Acelic acid (b} Oranges - Citric acid
{c) Tamarind - Tartaric acid Tomatoes - Oxalic acid

(
(e} Sour milk {curds) - Lacticacid (f) Lemons - Citric acids
(

L

() Ant sting - Methanoic acid h}  Nettle sting - Sulphuric acid
1 © ) @ @ ® 4) (0
79. Tee faus
(2) DrEFUIS Ofm 7 FeD, T Teava Yol Jwe fatas, S faafsn weam s
F.
(b) §=Y Feufg Feaw weedie Yol fEas =ram gam,
FEAE! Hvr/ /A faur/3 e aR/a?
(1) = (a) (2)  (a) T A (b) Y7 N
(3)  (a) =ufiT (b) A< 4) W (b)

Consider the following statements :

(a) Bill pending in the Rajya Sabha which has not been passed by the Lok Sabha shall
lapse on dissolution of the Lok Sabha.

(b) A Bill pending in Parliament shall lapse by reason of Prorogation of the houses.
Which of the statement/s given above is/are correct ?

(1} Only (a) {2} Neither (a) nor {b)

(3) Both (a) and (b} (4) Only (b}

T HIWES! AT /SPACE FOR ROUGH WORK
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80. 3US Wfavg Fer M= AqEEee JieE s SNHHe 1fafee wm e
T S@deE g Td I ?

(1) TN JBTAB

(2) TEEE A F R WS SEHR FD9D
(3) WgTa wEYT D

(4) U

Which of the following non-violent movements led by Mahatma Gandhi against the British
Raj, you would rank as the most effective to mobilize the masses ?

{1) Quit India Movement
(2} Swadest use and Boycott of foreign goods Movement
(3) Civil Disobedience Movement

(4) Fasting

81. TE TR FS Toa Fmiv hear T 9o woarn <9 i arg segsn w1 oR 2

(a) =TT (b) 3y W (c) ®Emm (d) R
!h"'qfl'qhﬁﬁ@:

(1) (@), (b), () T (d) 2) (@), (b), (d) 37U (c)

B (o) (@), (d) =0 () (4) (b}, (@), (a) ¥ (c)

What is the correct chronological order in which the following states of the Indian Union
were created or granted full statehood ?

(a) Nagaland (b} Andchra Pradesh (¢) Haryana (d) Maharashtra
Select the correct answer using the codes given below :

() @) ®) © and (d) () @) ®) () and ©)

(3 ©) @) @ and ) ) () (d) (@) and (0

A1 HIMMHE! ST /SPACE FOR ROUGH WORK
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82. FIMHE HTAGI 1955 HTA, WOGIH! ST TETAER TERT Sl YA e o I ?
() it afE eaTs (b) TR TFEH () 1 VIRAw geam

(d) fgaTHRTogR (e) ievit gR
aetols! arg waty faEe .

(1) (). (). (d) 300 (e) (2)  (a), (b), (c) 3nfer (d)
3)  (a) (c), (d) = e) @) (a), (b), (c) 3T (e)

Under the Citizenship Act 1955, by which of the following ways can a person become a
citizen of India ?

(a} By incorporation of territory {b) By descent (c) By birth
(d} By nationalisation {e) By registration

Select the correct answer using the codes given below :

(1) (b}, (c), {d) and (e} (2)  (a). (b), (c) and (d)

(3) (@ (), (d) and (¢) (4) (a) {b), (c) and (e)

83, 2011 S FIVHTER HU] TATE1 SIGEAT Jer=n <X 30 8 ?

(1) 2 B (3) TeE (4) ITEOMEE W
Which state of India has negative population growth rate as per census 2011 ?

1) Goa (2) Tripura

(3) Nagaland (4) Arunachal Pradesh

84, WRUHITG WA Wared F=I ‘A ' PRI YHam HIoedl oG @it 9 sramda @ e
AAFTAT JvA A ?

(1) 1952, 67 (2) 1954, 41 (3) 1969, 45 4) 1972, 41

In which year ‘Bharat Ratna’, the India’s highest civilian award was instituted and how
many persons have beeen honoured with this award so far 7

(1) 1952, 67 (2) 1954, 41 (3) 1969, 45 (4) 1972, 41

Hedl TS W /SPACE FOR ROUGH WORK
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85. ‘SigwreA Teresen’ afed AN Wiee fauerer fauar w4
{a) ¥ AATH A "W AOER' IS FUT HHHE IO,
{b) ‘T WO’ A gt anfor G e ShTEH g .
aite faumite ®ior /wivE) faue/2 aliear /e ?
(1) WK (a) 2y R (b)
(3)  (a) T (b) T AU (4) (@7 b) <R T
Consider the following statements about ‘Jaymala Shiledar’,
{a) Born in Indore and obtained Degree of ‘Sangeet Alankar’ with First Rank.

{b) Honoured with ‘Padma Bhushan’ and ‘Sangeet Natak Academy’ award.

Which of the above statements is/are correct ?

(1) (a)only (2) (b} only
(3) (a) and (b} both correct (4} Neither (a) nor (b)

86. IR FIHF HIO WHYT = ?

(1) e (2) WSt feen fedim

(3) W T $yiigR (4) O, fEd fdmn St

In the Legislative Assembly the official work is carried out in which language ?
(1) Marathi {2} Marathi or Hindi

{3) Marathi or English (4} Marathi, Hindi or English

87. NG WEHRA 26 S 2013 Ut Hiveam simurer o ammoredt ?

(1) 3ot () v

() I @) fom

Which drug has been banned by the Union Government on june 26, 2013 ?
(1) Analgin (2) Paracetamol

(3) Proctolol 4) Vicks

ol HIATHETS S /SPACE FOR ROUGH WORK
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88. Ydre S faur g aea ?

(@)

(b)

(<)

(1)

SAlfestgad & i feafifadst T A= fgw @ 13 = veiae § TWalg 9R
eI T S,

SRR § FR IO Joaistd SR Farmd stifeasmge § st @ fagm

WA FHEw 1 AGE 5RY STEd RO TR ey 9 SIHA AaeEEE B 9 AW

(a) A (b) @ B3I @) @9 4 @ B3I

Which of the following statements are correct ?

(@)

(b)

()

(1)

So as to prevent oxygenated blood from mixing with deoxygenated bloed birds and
mammals have four chambered hearts.

Amphibians and some reptiles tolerate some mixing of oxygenated and deoxygenated
blood and therefore have three chambered hearts.

Fishes have only two chambered hearts as here blood is pumped to gills to get oxygenated
which then passes to the rest of the body.

@and (® () (Mand( () @and( @) (a) (b)and (0)

89, TS FH I TH TR ?

(2)
(b)
(c)
(<)
(1)

ATV - FTEE Trea ST

o - el @ s

W - BrEAHIE By S

Y - 3760 Ueedd ATTUIE

() AT () () (b) AW (c) 3 wHE (d) (4) e (b)

Which one of the following pairs is not correctly matched ?

()

Agni V - Intercontinental Range Missile.

Trishul - Supersonic Cruise Missile.

Shourya - Hypersonic Cruise Missile

Dhanush - Short Range Missile.

@and(d) () ®and(© () Only(d) (4) Only ()

HEAT HIREE ST /SPACE FOR ROUGH WORK
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90. & W 3= TFT=n aeie faurmEr =R w4 :
(@) fasft = ‘fafew Fftore wite W WY[A 1906 A v wal .
() 1947 T TURAS B e s-ese =u[A TR HTu e,
(c) d ITEERY IFET AA IR,

(d) 1991 73 foen arfva faenfuarn et Svam anen.

et HVR /Ao frur s sRd ?
(1) K (a) 9 (c) (2) W (b) S (<)
(3) W (c} MM (d) (4) TR (a), (c) A (d)

Consider the following statements about the Forest Research Institute {India).
(a) It was founded as the ‘British Imperial Forest School” in 1906.

(b) It was reestablished as the Imperial Forest Research Institute in 1947.
(c) Tt is located in Dehradun (Uttarakhand).

(d) It was declared as deemed university in 1991.

Which of the above statements is/are correct ?

(1} (a) and (c) only (2} (b) and {c) only

(3) {(c) and (d) only 4) (a), (c) and (d) only

ol SRS S /SPACE FOR ROUGH WORK
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91, wifec SFRHT TEERRERYTd T “AY 7 Y=t B wHiie S ge

(a)
(b)
(©)
()

(1)
(2)
3)
4)

Match the list “A” with list “B” with reference to Sahitya Academy Awards :

(1)
(2)
)
4)

https://dompsc.com

HEt-A

(=)

M TR
EECAGE

aTH Ho
mftres T (449)
@ ® « (@
O @ Gy @)
(v) (i) () @)
(i) @@ (@) @)
(i) Qi) @ @)

List - A

(Person)

Shyam Manohar
Vasant Dahake
Ashok Kelkar
Manik Godghate
@ (b) ( (d)
@ @) @) ()
(iv) (i) (i) ()
@) @) (i) @G
@y (@) @@ (@v)

43

TAN-B
( eI Ty )

(@

List -

2011

2009

2010

2008

B

(Award year)

i)

(i)
(i)
(iv)

2011
2009
2010
2008

GO3
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92, SANIIHT Yo S el Hred Juar WEAHIYRUYY FIEAE {ou 3THa ?

(1) TSasu™ (2) vulseE™

(3) fe=m (4) & wfe=mE

Within what period is the Government entitled to reply an unstarred question
generatly ?

(1) Within a week (2)  Within fifteen days
{3) Within 2 month {4) Within three months

93, A H.1 i AE FH.11 I B U 0 Wi KDoAy sheat wikfawidt fHag #7 ;

ATdr - 1 AR - 11
( Faitfaa st weew ) (WMEeHS A )
(a) HH (i) 9564
by Sarg (i) 1400
() M faxedl (fqueEh) (i) 3300
(d) =R (iv) 6600
(a} (B () (d)
1y (W) ) @Gv) (@
2 () (0 () {iv)
@)y ) () @ ()
(4) @) ( @) (w)
Match list-] with list-Il and select the correct codes given below :
List-F List-11I
{Planned power projects) (Capacity in MW)
{a) Chutka iy 5564
(b) Jattapur (i) 1400
() Mithi Virdi (Viradi) (i) 3300
(d) Kovvada (iv) 6600

@@ (b) (g (d)

1 @ @i ) 6
@ ® @ @) @w)
@ @ v 6 G
@ v O ) i)

AT HIMTHIE TR /SPACE FOR ROUGH WORK
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94, TR YRIEATA FEMid GIGTOTH! B Toga (TR 71 Jo<) YE 0 795 96T 1 are
e ?

(1) 9REs 3= Al (2) VIER wEtE e

(3) wieTE faNw <o (4) T T= AT

Which one of the following convicted RJD (Rashatriya Janata Dal) Chief Lalu Prasad Yadav
in a fodder scam ?

(1) Tharkhand High Court {2) Supreme Court of India
{3) Special CBI Court (4) Patna High Court

95. TS (Mars) TIERE WEG FE1 SAHT AYS THHEH B Hooed] TEHAT F1B HHAO

IR

(a) SR (b) T
() =M (d) S9UA
(e) AT VN i (f) ¥Rd

(1) i, W, 9, 99[, v/, [ a9 &
(2) e, i, S, qRfa W weiE, €9, TR
(3) W, sm, RfE, =i, A e iE!, R
(4) omHfE, T, 9um, =9, Qi WY oed!, IR

Give the correct chronological sequence of the missions undertaken to Mars by the six countries
or agencies given below :

(a) America {(b) Russia
(¢} China (d) TJapan
{e) European Space Agency  (f) Bharat
(1) America, Russia, China, Japan, Bharat, European Space Agency.
(2)  Russia, America, Japan, European Space Agency, China, Bharat
(3) Russia, Japan, America, China, European Space Agency, Bharat.

(4) America, Russia, Japan, China, European Space Agency, Bharat.

ol IS 90 /SPACE FOR ROUGH WORK
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96. AT ForiaTs, Feeia T qEE 1 s e 9l wee e 9 faym e
(a) ¥ WAIEI, FEAEE A fame FRe.
(by = e foedten Toam g Fagusmia 70 ¥at 29 fowmit faw gy san.

uqig :
(1) FoD (a) T (2) %E® (b) FTET
(3) (a) F (b) D A R (4) (a) 9 (b) T faum 9=

Consider the following two statements about Arvind Kejriwal, the new chief Minister of
Delhi and the leader of Aam Aadmi Party :

{a) He is an alumni of IIT Kanpur.

(b} In the recent elections held in Delhi his party won 29 of the 70 seats.

Options :
{1) Only (a) is right (2) Only (b} is right

{3) Both (a) and (b) are right {4) Neither (a) nor (b} is right

97. WRATS AYSSH ARPIE S SrerHn aieth 1 ¢

(a) Bl W - (b) T YHO

(€) TATAETN (@) forsm wrwE

(1) (@) (@) (), ) 2) (@) (©). (b), {d)

3 ©) @ 6 4)  (b), (€) (a), (d)

Arrange in chronological order the chairmen of Atomic Energy Commission of India ?
(a) Homi Bhabha (b) Raja Ramanna

(¢) H.N. Sethna (d) Vikram Sarabhai

1) (@), @), ), {® @) @ () (b) (d)

3 ()@ @ (@ @) (k) (@) (a), (d)

98, WETIH! HIE A T (FAE) TS FATd G IS ?
(1) TR (¥Es)
@ = ER-Y (F) (TuEd)
@) () dae Te-wig
(4) T (e A T Wi giaa (Te) WEn
Which one of the following news agencies is the oldest in the world ?
(1) Reuters (England)
(2) Agence France - Presse (France) (AFP)

(3) Deutsche Presse - Agentur (DPA)
(4) Telegraph Agency of the Soviet Union (TASS), Russia

FHoHT HmIAEIS AW /SPACE FOR ROUGH WORK
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99. WIS 91 WIEEF YQUSAT ST & RIS ALY A=al LUK U HIVd ?

(1) eifsan (2) How (3) Tafen (4 e
The first country to legalize production and trade of marijuana is :
(1) <Cambodia (2} Srilanka (3) Syria {4) Uruguay

100. HPUG 72 WEE W TTHT A1 T4T=4] 65 31 I8 Hoder. geafasmii=n Feaam @ RV 7o,
[ fauFTer faur .

(@) ‘'St A 7 @M weren sfaarEt yite e agadl.
(b) T geAfaHRra wewhl s Al Fe,

gt
(1) Fa® (a) TR (2) FF® (b) W
(3) (2) 9 (b) I faun sEw (4) (a) T (b) T faum 9=

The versatile actor Farooq Sheikh passed away recently at the age of 65. He died of heart
attack. He acted well in Shatranj Ke Khilari, Noorie, Urmnrao Jaan, Chasme Baddoor, Katha,
Bazaar. Consider the following two statements about him.

(@) In “Ji Mantriji” he performed the role of a Secretary to the Government wonderfully

well.
(b) He suffered the heart attack at Dubai.
Options :
{1) Only (a) is right (2) Only (b) is right
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right

-o0o-
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TNl — (75 1 967 [@.... )

@) TEqfadnd fafza Soem fafee I £ FW (16 9%) FR.  WAfassiaiE St @
TR FIHR FA W FAW 1 F) FOGeN R FS W, 3R TS TS T AFER INGTRAR
MR W Fee  adeined g o sy SR afafrm-s2 ' arie wEdhan weag
[ e § AN TR SN0 CF e HrEEre AR T2 T WIR whiren <oren i
.

9) TR IFHFTE AT fafem RO 3 Yoo ITERS B TIIYiEE W a0e TMeRETel
TEHT IO qEeelt SR, urw e Huramy sroargdl FTar ArawEr Sether wr- 1
ARARFTHS W Toa@r e F0T AEvTH 3T

9. . 201,

q. . 201

LA W
W e TR HIAHIST B T T FA ?
(1) T TEER T @ FEEg T
@) TR T )  TieEE e
YR I W (3) TS TAEET WE oM R, W W N WO C(3)"" e e
e ¥ %, 201 ¥Eile ss-wuw Q)7 T adm v owites w7 T
FATTF AL,

ONON RO

I TR T TAYRARAT TOE TS qUE SUGRHIE @ IR s [fasen
IAGCAFANS & W IEETEEie Tl 9§ o grifee w6 e, R
W HTHAT IER AT ared, Rae ur i ¥ avew @,

HEET THTHTASR WA /SPACE FOR ROUGH WORK
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